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Problem 1.1
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1.1 Two solid cylindrical rods 4B and BC are welded together at B and loaded as

shown. Knowing that d, = 50 mm and d,=30 mm, find average normal stress at the
midsection of () rod 4B, (b) rod BC.
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Problem 1.12

1.12 The rigid bar EFG is supported by the truss system shown. Determine the

cross-sectional area of member AE for which the normal stress in the member is 15
ksi.

Usfni ?or‘\‘l‘o\n EFGCR as a Tree LDAY
2R =0 2R - 3co0 =0

Fae = 6ooo Jb, = G.00 kips
Stress in miewber AE Gag = 1S ks
Fac
AAs R Fac - .00 = o.400 Wt -

Prob}l)em 1.31

1.31 The 1.4 kip load P is supported by two wooden members of uniform cross

section that are joined by the simple glued scarf splice shown. Determine the normal
and shearing stresses in the glued splice.
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[image: image2.jpg]Problem 1.9 1.9 Each of the four vertical links has an 8 x 36- mm uniform rectangular cross
section and each of the four pins has a 16- mm diameter. Determine the maximum
value of the average normal stress in the links connecting (@) points B and D, (b) points
Cand E.

Use bar ABC as a free bon.
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